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QUESTION 1

To balance IOPS and capacity within a datastore cluster, which of the following technologies should be implemented?
A. vMotion

B. High Availability

C. Storage /O control

D. Storage DRS

Correct Answer: D

QUESTION 2

You have been tasked with creating a new domain controller in the vSphere environment to replace the physical domain
controller. You are trying to determine how much memory to give the virtual machine. What is your best option?

A. Create the VM to match the memory of the domain controller
B. Give the VM as much memory as possible to ensure optimal performance
C. Read the vendor documentation and base your memory setting on that

D. Look at the long-term memory metrics of the server and have the memory setting match the maximum memory used
by the domain controller

Correct Answer: D

QUESTION 3
A network design has a requirement to have five total networks that are physically separated from one another.

The design requires that there be no single points of failure on the network. Based on this information, how many
network adapters are needed?

A.5

B. 2, with the use of VLANs
C.1

D. 10

Correct Answer: D

QUESTION 4
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You are planning a vSphere 4.1 to 5.0 upgrade. The production datastores are 6 TB. Each datastore consist of thee
extents of 2 TB and is currently 65% full. The operations team would like to keep the system as close to the current
configuration as possible. The upgrade process also requires as little service impact as possible. In addition, you wish to
use storage I/O control as soon as possible, due to a mission-critical business application requirement. Which of the
following would be the correct approach?

A. Create a new VMFS 5 datastore of 6 TB Enable storage 1/O control Migrate the VMs using storage vMotion Configure
storage /O shares as required

B. Upgrade the VMFS 3 datastore Enable storage 1/O control Configure storage 1/O shares as required

Correct Answer: A

QUESTION 5

When configuring HA, which admission control policy should be used?
A. Host Failure Cluster Tolerates

B. CPU and Memory Percentage for Failover

C. Standby Host

D. None of the above

Correct Answer: B
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